2 ME (amino acid, AA) S =M EIXF A
( & 48 4)
T FLEI:IIJ%{I\
TR R HBRE AR, WEREARS MBI — HFEEERS R
i, KIEEH, RERPEAEVINLR. HEe MBI B AR
AR GK F B =l 2 R e A R . TERRTESRME T, &R 5 e = #hge = AR 1R
LGS e, LS AR 570 nm AR, B ilE 570 nm WG, K

ITHRRERSE.
—.\ MiXEHRFECH :
R4 R Fak TRAFELR #VE
FREUR WAk 60mLx1 )i 4°CIRAF
A — Wik 30mLx1 I 4°CIRAT

IERBIEMA 1.5mL Tk Z B, 2=
R 1 7x2 3 4°CIRAT XEFMES, BMA 13.5mL K5

—RAHIFR R mix, 10 XK A5
BaEIAJLTE 4°CE L ERFIENR
ERER, B EM 1.5 mL RIFKESD
RA= MFx2 X 4oC{fAF BR, BN F S EE-20°CIRE
(AIRE—1NA), BIEREFRRM, &
HET 4 CREH—ANFERR.

PR WA 1.5mLx1 32 4oCHRAF HEMMARE, MWARZKH .

GE]: MFIEE mg &7, FRATAFRILURSEFHITELD, FTTHAEZRMAZKARFIE.
=\ rENEMAm:
AL ERE T, ImL BRFE LA Ok 1em). GRBEOHL. K. aTE R0
WER. BB UKo
M, SEFAASENNE:
BPUEN S ANER 2 MERBFNE, THRAMERER, ABLWRE, B
AR FIRER!
1. #HEARGHIE:
O HBFEA:
FRELZ) 0.1g 4HZ K> FE R REASATEL 0.2g 4140, N ImL $2H0K, #HATEIRS%,
12000rpm, 4°CEL» 10min, & E VK R,
CELERRALNARE (o) RBUREF(mL)A 1: 5~10 BIELFIHITIREL
ORI =N
SN B B4 B B N, B0 R FE B B S00 TN E s AN N ImL $REEUR,
HEAT =AM, 12000rpm, 4°CES Ly 10min, | iE R E VK E AR .
CElE AR R AE s AR E (1044 ZEGRHAEFR (mL) 73 500~1000: 1 AIELGIHZEL
@ WIARFEA: BEEAGW . VM, 20 5H EFER .
2. B
O A WAEEE I 30 min, PR K S 570 nm, ZEBKIHE.
@ £ EP &8 N RAR A




RN R (ul) Mk FAE (AM—0
AKX 40
LB 40

X M. mix 560 560
WA= 40 40

RE, =EE (TAHOMBRYES, BFibKkaEIR),
EikKAaT 15min, MEBAEINEZEHERESTY Imin.
0s%zm [ 320 | 320
REY, AEETERAR CEVEMRT 8000rpm & i &5 0> Smin)
HE ImL BESLEAI 642 lem) 1, 7E 570nm BEUR
HE A, AA=ATIIE- A FH.
GE] £ ANEEAT 15, TRREKELERRRERRBIERERNE,
MIEFEH D KANLKXEFITE.

. FHRITE:
1. PRUERRZE T FE: y=16.218x - 0.0217; x AFRUESEE/RFIE (umol), y ZAA.

1.2 y=16.218x-0.0217
R?=0.9991

OD 570nm

0 0.02 0.04 0.06 0.08 0.1

FRAES (pmol)

2. AR
TIPS B (umol/g HE)=[(AA+0.0217)+16.218] +(V1+VxW)xD
=1.54x(AA+0.0217)~WxD
FIER S B (pg/g EE)=[(AA+0.0217)+16.218] +(V1+-VxW)xDxMr
=202.2x(AA+0.0217)+WxD
3. AR
RIEFR S (umol/10* cell)=[(AA+0.0217)+16.218] ~(V1=V x4 il ¥ &)=< D
=1.54x(AA+0.0217)+40 i & <D
RIS B (ug/10% cell)=[(AA+0.0217)+16.218] +(V1=V x4l g ¥ & )xDxMr
=202.2x(AA+0.0217)+40 i ¥ & xD
4, FERRBARARFAT
RIS B (umol/mL)=[(AA+0.0217)+16.218]+V1xD=1.54x(AA+0.0217)xD
RIS B (ug/mL)=[(AA+0.0217)+16.218]+V I xDxMr =202.2x(AA+0.0217)xD

V- FE PR BB AA Y, 1mL; V1---MAFEAAEF, 0.04 mL;
W---FE &, g Mr---Fr#E S 7 T8, 131.174;

D---FHBEAE L, ARRREE N 1

Bif: o b 2R M AR

1 FrdfES B (10pmol/mL);

2 AEBRH AR KRR DL R IR B R B FOARME S 0,0.4, 0.8, 1.2, 1.6, 2.umol/mL.
3 IRIEIIE B ROINRE AR, AR 25 BRI AT AR AR 2L




